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€cse = 50 X 10_6(0.06 Xx30-1)(1 - e‘0'1><1460) =40 % 107°
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e Jlgw
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(Sloes 595
Uilidl oot 0= 1.65 — 0.0003 x 1500 = 1.2 > 1.09
SalS i 0= 0.4 + % = 0.8857
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3000
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Mp=1.25Asfy (d- 1_7féby)
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4022: A = 1520 mm® — My, qef) = 387.78 kN.m
6®22: A = 2280 mm?* — M, jony = 564.97 kN.m
3022: A, = 1140 mm? - M, (iop = 29491 kN.m
Qu=1.2%40+1x%20=68 kN/m
Vy ravity=682><5 = 170 kN
38%-18 sL4-T 294.°
— 8 A" L
3 ) —)
- ‘{‘;U-Sfﬁl.?o P b bne -2 ;
>0, S6” 140557 +170 I5444+110 -154:44+170
i = 34055 =324, 4¢ =142
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\ imemo oS oo 10 1 Com

A=3x380=1140 mm?* - d,, = 38.10 mm
5y ibalols Cpy =40+ 10 4+ 17.35 = 67.35 mm
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b3S e alols  Cpp =5 |5 (400 — 2(40 +10) — 2 22)] = 64 mm
55 o il alols Cb3=40+10422=72
Co XKy 6440
= = 1.68
dp 38.1

1.3X1X1X1 _ 0.9x400
= X = .
La=— T es V30 dp = 50.86d,

05,5 La=1.2(50.86db)=61.03db = Lq = 1342 mm
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A, fyd -
V=== < 0.33/f{by,d
Ay 033V23x500 _ 5 0 ®12: Ay = 226 mm?
S 400
$>22° ~ 110 mm
2.06
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L=2x2=4m— — = 2 mm
2000
Max (2,1.3mm)=2 mm
A, 24
A=24mm > 2mm _)ZZTZ 0.6 mm
Y5 Jlgu
¥ e aus 4ot - A Sonee
:A:)L?M" 593

TuPh
1.7A%,
Xo=250-2(40+-%) = 160 mm

< 0.75(0.17 + 0.66)V/20

Aop = 65600 mm?

~ p, = 1140 mm

Yo=500-2(40+>2) = 410 mm

T 1180 _ 784 T, < 17.866 x 106 N
S E— . - . X .
1.7(65600)2 — u= mm
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125x106=O.9><O.0035><300d2><400(1-%)
2= 125X10° _ 341952  d = 584.8 mm
365.55
YA Jlgns
Y e duu)f Y ) 4 Conwo
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L .
30 X 0.65 0.7V, — uy
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Asmin=0.0018A,=0.0018x2000x800=2880 mm?
=880 _ 00206
Pw =700 x 2000 )
Vie=(0.66% 1x 1x(0.00206) /3v/25) x 700 x 2000 = 587859 N
PV, = 0.75 x 587.86 = 440.9 kN
¥ Jlgw
Vi S Ao 1 Veons
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ol Q.NO )Lu 990 (5,97 &.aslﬁ.o JLaS‘ J.‘Z'.c 5o
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A=2eNu _ 825000 _ 5991 ~ 2300mm?2

®Fy  0.9x400
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828 + 225: A = 5908mm?
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XY Jlgw

¥ igeme auss ko o 1 e

:&:Al?b.»é" 593

Qu=15%2=30 KN/m

12 30(8)2

My =q“T—M;; = é) — 180 = 60 kKN.m = Ty: B2 5 o

(Tnin=®Te; = 0.75 [0.33v30 Sgg:ﬁggg) =31.5 x 10° N.mm
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A = 2 104> 1-2,=1

250

;= 40

p=1

bo=2(a+b)=2[(400+160)x2]=2240 mm

A,f
OV, = 0.75 [0.177\57\\/f—c’b0d + 2 > v = 500000

0.75[0.17x1x1x+/25 x 2240 x 160 + A? X 300 x 160] = 500000

Ay
Y > 7.54mm
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o= 40
p=1
bo=2(500+160)x 2=2640
2
/15= w=1.1>1.0
1+ 250
V=0.33A\/fl = 0.33 X V25 = 1.65MPa
YO Jlow
¥ igeme au3S 4o o ) o
:Ql:;b.»a" 94
(0.658™F¢)xFy=0.5Fy,— F, = 144.92 MPa
2E KL
Fe:(’é)z = 14492 > —~ = 1167
K=1
r,=75.8mm- L = -2 = 8846mm = 8.8m
X5 g
A Tuue d.g; oo 105 Vo S

25 18 ol g ml Jb &blis Joee oSG a5 5
A1=200%20+500%x10=A>=300%30
abdi ol Cand Z a0

Z=300x30x15+500%10x250+200x20x510=3425000 mm?*
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0.85X25%X1500
As Fy=2(180xx)*x240+0.85%25%1500%x3181=8450%240
X=11.74 mm <t=13.5 mm
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A,=2x200=400 mm?

1x=2x200x100°=400x10* mm*
ly=2x—x 200% = 133.33 X 10*mm?*

J=533.33x10* mm*

fy=r22% — 405.00 N/mm
_162000x300x100 __

fTX_16250303d§<33)(<J%)(>)<4100 "

fTY:m =911.26 N/mm

f.=/(911.26)2 + (911.26 + 405)2 = 1600.92 N/mm
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aw=
0.75%0.6X420%0.707

=11.98mm = 12mm

Silge Ghex b g0 sy

Y g

Y’:c.:.z.c d..u)f

be=2%200tan30+200=430.94 mm

200 mm

:A:)L?M" 593
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